Contact Switches with Stoppers
Mini, Drip-Proof (IP44) /Water-Proof (IP67)

For Mechanical / Electrical Specifications

/AN Although this is a drip-proof type, it is not suited for use in environment in which coolant or cutting chips may fall on the product. and Precautions for Use, 2="P.2095 /AN Athough tisis a waterresistngtyp, tisnotsute fo use i environment in which coolantordust i cuting may allon e poduct. ~ For Mechaniical / Electrical Specifications and Precautions for Use, B P2095
MDrip-Proof MSTW-S (Cable: Loose Wire (No Thermal Com : Cab Ti EWaterproof i Cable: Cab Ti
- 3 pression Tube) MSTW-L  Cable: CabTire MSWF-LD (With LED) able: Cab Tire
(IP44) Standard | v/ S with LED) 2 Conuctors- 006,L05m i Resian 2 Conductors - 03, 2m, Ol Resistant Example (IP67), Flanged 2 Conductors - 3, L 2m, Oil Resistant Example
Min. Bending Radius 7R Cylinder 16 Min. Bending Radius 7R
——tt=—3 Set Screw
e . o) 00290 (MSWF)
% = = 8‘_8 Bonding - gg
- B i e (MSTW) ——- ¢ i e—
" = 8 J s L =]
e p Stroke 0.5 | 8:003 Stroke 0.5 | 15x0.03 V % 1 Rubber Boot 57|
- -, =N troke 0. 5
Set Screw = Stroke 0.3 | 11.5:008 I
i (MSTF) | / 2
’ (D Material: Main Body EN 14005 Equiv. (45HRC) = Es
m %g}lf% :’arl EN 1.4029 Equiv. d < mm m Matena\,Ma;l“%;g I’Egﬂ]é?ln?%% (ég:gf) :'Jv'%nw)e Nut Tightened
(50HRC)
MDrip-Proof MSTF-S Cable: Loose Wire (No Thermal Co : I
- : pression Tube) MSTF-L Cable: Cab Tire WWaterproof With LED!
(IP44) Flanged o wi : ; h Wi . . Lo MSNW-SD (With LED) MSNW-L
Cyiinder MSTF-SD (With LED)  2Conductors-006,L.05m Oi Resisient MSTF LIE) (With LED) iﬁﬁ%ﬂﬁigﬁﬁ?’mRemm Serewedin £3 (IP67), Screw Cabe:Loose Wi (N Thermal Compression Tube) MISNW-L.D (With LED) - Cable:CabTire
*}-EH 3 *1}3* 3 ) (MSN, MSPM) % 2 Conductrs - 006, L 0.5m Ol Resistant 2 Conductors - 03, L 2, O Resitant —
Y Grote 90° o VGo0RST Rubber Boot Rubber Boot Min Bnding Reics 7R
am ﬁ B M10x0.75 M10x0.75
oo 3% ??EE P L)
P = (= S ~
o == T~ pd E e G
Stroke 0.5 | 8:008 Stroke 0.5 || 8:003 Screwed- - \ | 6.8 15
In (MSNF) e Stroke 0.3 | 11.5:008 Stroke 0.3 | 19.5+0.08
(D Material: Main Body EN 1.4005 Equiv. (45HRC)
e EN 14025 Bt H:— [ Accessory (MSNW-L, LD only): Hex Nut 2 pes. (Thickness 3, Hex Socket 13) D Wlera: Hain By E114005 v, 45HR0) )
mm ' "Toothed Washer 1 pc. 50HRG) Contact Part EN 1.4029 Equiv. ~
WDrip-Proof | isN-s Cate Loose Wi o Themal Compression Tube) MSN-L e Cab Tre
(IP44) Screw | \15N-SD (With LED) 2 Contets - 005,L 05 Resnt MSN-LD (With LED) 2 Conductors - 03, 2m, 0 Resisant Z BWaterproof MSNWF-S Cable: Loose Wire (o Thermal CompressionTibe)  MISNIW F - Ceble:CebTire Z
i, Bending s TR (slzfg), Flanged | \\o\wWE-SD withLep)  20onductos- 006, L05m 0 Resisant \ S NWE-LD (With LED) 2 Conductors - 03, L 2m, Ol Resistant
‘V 0.7 M10x0.75 0.7  M10x0.75 ’ Min. Bending Radius 7R [ Structure of Waterproof Type (IP67)
\ —i=~ =/ [ ubber Boot 10 (Coarse) Fubber Boot  M10 (Coarse Contact
(& / ] Il Structure of Drip-Proof Type (IP44) @ 3 < (Hardened Steel)
&4 ‘,/ °° \ _ @ ° EI[X @ g =——=—1kui N 7
I & = \J :
"Si« , Stroke 0.5 Stroke 05_| 15-003 Contact i ,-A'/ T 5
(Hardned See) . Stroke 0.3 12
A SOHRC g Stoke03 L5 1oke 0.
7 Y Accessory (MSN-L, LD only): Hex Nut 2 pcs. (Thickness 3, Hex Socket 13) I Metea: i Body EN 14005 Equ. (45HRC) % 2\ - 7.5:0.08 7.5:0.08 )
m Toothed Washer 1 pc. Contact Part EN 1.4029 Eqiv. 1) Af
(50HRC) S l _ D Materia: Main Body EN 1.4005 Equiv. (45HRC) Stopper Surface
- ) [RokiS10) Contact Part EN 1.4029 Equiv. Rubber Boot  (Hardended Steel)
.:ID;'P“;)P ;f'a‘:‘f od MSNF-S Cable: Loose Wire (No Thermal Compression Tube) MSNF-L Cabl: CabTre (50HRO) Contact  45HRC
Screw ) MSNF-SD (With LED) 2 Conductors - 60.6,L 0.5m Oil Resistant MSNF-LD (With LED) f/\ ﬁm;d;c;;r;ﬁismé%nm Resistant Stopper Surface Part A tinclConta Alowablel Max. Contact S -SD L LD Stop Position
- W10 (Coarse W10 Coarse) (Hardended Steel) 45HRC Number | stroke |PRSTeENIISOMECH Static | Impact f;‘gi " Uit Prie e Uit Price e | Unit Price ot UnitPrice e 2
Contact Type Load | Energy 1 -9pcis)| 10~20 i - 9pcls)| 10~20 i ~9pe(s)| 10~20 |1~ 9pefs)] 10~20 Xs
< « -
o = &, NBER I — R2.5 MSWF - - - - - - St
g SlETL S1E%1] - Center Vicinity N0 I
/ g = = Operating Force ,E‘, MSNW | 03 oy 1N |3000N| 020 |Momay| - | -
. ‘ = -3 W MSNWF ' Open) Operating Location
P Stroke 0.5 5 | Stroke 0.5 12 03 (Stroke Center Vicinty)
~ 3:0.03 3:0.03 Operating Location S (Stroke)
= e o Stroke 0.5 | | (Stroke Center Vicinity) Ordering | Part Number
IEIEE (50HRC) Example \MSTW-SD
[MDrip-Proof MSPM-S Cable: Loose Wire (No Thermal Compression Tube) MSPM-L Cable: CabTire mgn_:_sl‘
((I:P4‘:) Btag MSPM-SD (With LED) 2 Conductors- 60.8,L0.5m Oil Resistant MSPM-LD (With LED) 2 Conductors- 03, L 2m, Ol Resisant MSNF-L
ontact Screw i
Min. Bending Radius 7R . X MSPM-LD
// . i Operating Location e
g ©  M10x0.75 o M10x0.75 (Stroke Center Vicinity) .
w 3 - 8. = Shroke 0.5 MSNWF-S
£ 7 Lu g9 .
ﬁ?/ w Egj[ . Y «,I géi : (o to "with LED" Ty
W | =/ & - i ommon to "wi €] i
R / Stroke 0.5 | 11:003 troke 0.5 | 18=0.03 ( ype) /A ContactMethodof eetedSubec Commor)
Cable: Loose Wire (-SD) Cable: Cab Tire (-LD) « Except Ball T eBall Contact Ty
: *Use within the contact ratings. © LED Lamp _ o © LED Lamp _ (An uclgf mi:alicfw?ntiﬁt v{\qﬁin +3° AaII [g:itr)gcggnsype
i ires wi itch Mai < ONin Operation ¢ .\ : ON in Operation (Ang o ) ( )
[ Accessory (VSPM-L, LD only): Hex Nut 2 pes. (Thickness 3, Hex Socket 13) (I Meateria: Main Bocy EN 1.4005 Equiv. (45HRe) | *DO ot pull or twist the loose wires with Switch Main Body S Switch Main Body 3 o

A X X
Toothed Washer 1 pc. Ball EN 1.4125 Equiv. (50HRC) 15N or more. Also do not pull or twist N
m g the cab tire cords with 30N or more. e -——- 5 e — 13 \%% \% OL

‘ 120 25 120 ‘ 25 §
R ) _sD L LD | | . . 7
Part Number| o oke OPF?;?:i"g C;::::t " Static Inn‘f;:&t Cf:;iagt Unit Price | oeme | Unit Price | yeoume | Unit Price | peeoeme . |Unit Price | proime 27°-1 {IZI © %D
Type Leed] || EEEy 1 -9 pc(s)| 10~20 [1 - 9pc(s)] 10~20 [1 - 9pefs)| 10~20 [1~9pcfs)| 10~20 -7 o1
MSTW R R eUse within the contact ratings. | Relief
,VIST NO .Egrggtmﬁ:l]l g(l;’\tl\lvolftnﬁgfeloose wires with 15N or more. Also do not pull or twist the cab tire X
MSN 0.5 (Recpee’:gb‘i"'iﬁ'y”(%) 08N | 3000N | 0.2J | (Normaly
MSNF Open)
MSPM




